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FH | LW | kA ehelli i e T | L
F-H T KH (i) (i) (i) (i)
E[- /NN 11 8 0 3 8 0| 2070043 | 17HF004) 2,037 10,191 2,238 14,466
LomE = K 15 15 15 3 0 15| 2410053 | 248005 4,040 14,838 1,044 19,922
N 9 0 0 2 0 0| 198004y = 613 6,659 382 7,654
45 fE 9 0 0 2 0 0| 191004y - - — — =

Gh 9 0 0 2 0 0 439 5,422 301 6,162
[E S SN 13 0 0 5 0 of 21m304y — 1,171 11,122 254 12,547
H AR IR R 12 8 0 4 8 0| 21W5004%| 16854553 3,848 26,009 3,716| 33,573
(NN PN 12 6 0 4 6 0| 21F500%3| 1685005 1428 8335 0 9763
o fE 12 6 0 4 6 0| 21F500%3| 1685005 1189 4960 0 6149
Gh 24 12 0 8 12 0 2,617 | 13,295 0| 15912
H AR A K 12 12 12 4 4 12| 21F$3043| 21F$304) 1,173| 20,589 814| 22,576
H" F R K 12 8 0 4 0 0 210043 | 170043 1,930 17,180 2,961 22,071
Y= TN 9 0 0 0 0 0| 181F00%y - 1,044 3,331 74 4,449
Gh 21 8 0 4 0 0 2,974/ 20,511 3,035| 26,520
ZRE 2PN 10 9 9 3 9 9| 220043 | 18MF004) 1,540 17,581 0 19,121
KEFrNA 10 0 0 0 0 0| 1987004y = 745 3,122 0 3,867
Gh 20 9 9 3 9 9 2,285 20,703 o 22,988
®om R OR 13 10 10 5 10 10| 2210053 | 19HE005y 1,592 6,989 105 8,686
AN 13 10 10 5 10 10| 2270047 | 191KF004) 4,207 18,141 153 22,501
AN LA 9 0 0 0 0 o 17304y — 1,500 300 0 1,800
Gh 35 20 20 10 20 20 7,209 25,430 258 32,087
N 24 24 24 15 15 24 — — 1,076 6,818 324 8,218
e k= K 12 0 0 4 0 0| 2187004y — 522 5,083 628 6,233
fg B E KR 14 10 10 4 10 10| 23150053 | 198005y 4,168 14,122 1,509 19,799
E- N SN 11 7 0 3 0 0] 20/F00%y| 1787005y 613 4,839 354 5,806
KR E P K 12 8 8 4 8 8| 21FF0043| 17MF005) 3,584 29,076 1,271 33,931
R X 10 1 0 2 4 o 19WF00%3| 17HF00%) 587| 10,811 186 11,584
B AE T B K 13 13 0 5 5 0] 221F0043| 228F004y 1,443 13,562 1,817 16,822
SR N 13 13 8 5 5 8| 21W§3047| 21W§304) 1,679| 30,021 2,066 33,766
R R R R K 11 8 0 3 8 0] 20/F00%y| 1787005y 2,684 9,391 3,451 15,526
BE R K 12 8 0 4 0 0 21W00%3| 17004y 3,083 27,837 2,253] 33,173
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F-H 1 RH (i) (i) (i) (i)
FEIE N 12 8 0 4 0 0 21W§0043| 17WF004) 3,974 56,584 1,874 62,432
H 2 fiE 12 8 0 4 0 0] 20/¢30%7| 1787005y 1,373 15,583 1,291 18,247
) AE 12 8 0 0 0 0 21/F3047| 1787005y 1,683 19,969 0 21,652
GhH 36 24 0 8 0 0 7,030 92,136 3,165| 102,331
FE PSS AN 11 0 0 2 0 0| 19%§00%y — 1,931 25,638 4,625 32,194
e 12 10 0 4 2 0 20M§00%3| 18MF004) 1,266 8,048 829 10,143
GhH 23 10 0 6 2 0 3,197| 33,686 5,454| 42,337
g K 13 10 10 5 10 10[ 22850043 | 1980053 3,075| 35,745 2,472 41,292
Elfrh— 24 24 24 16 16 24 = = 4,082 11,032 169 15,283
TR S OIS 24 24 24 17 24 24 - - 362 486 22 870
GhH 61 58 58 38 50 58 7,519| 47,263 2,663 57,445
romE K 12 7 0 4 7 0 20M§3043| 16MF304) 2,838 13,980 1,348 18,166
PE 2 K Bt K 13 9 0 0 0 0 21W4553| 18W45%) 385 1,212 0 1,597
ol R OR 10 3 0 2 0 0 19W§00%3| 12/F004) 333 5,472 611 6,416
a I FE K 12 4 7 0 0 7| 21WF0053| 17HF005y 2,514 13,782 2,788 19,084
[ =N 10 8 0 0 0 0] 19%F0043| 17HF0043 1,087 1,335 616 3,038
&R E LK 10 6 0 2 0 0 1950043 | 15MF004) 1,967 15,576 560 18,103
[ NN 13 0 0 5 0 0| 21304y — 1,960 12,659 4,533 19,152
AN =t 12 0 0 4 0 of 21004y — 203 1,990 0 2,193
GhH 25 0 0 9 0 0 2,163| 14,649 4,533 21,345
1IN 10 0 0 0 0 0| 1987004y = 756 1,973 402 3,131
E # 13 0 0 0 0 o 21304y = 522 6,447 878 7,847
GhH 23 7 0 0 0 0 1,278 8,420 1,280| 10,978
i K 12 7 7 3 7 7| 218F0047| 16FF005y 1,577 34,475 520 36,572
I B F K 13 13 0 4 4 0 21KF0043| 218004y 2,379 24,735 5,063 32,177
TR =BER 8 0 0 0 0 o 18WF 155y  — 617 5,280 81 5,978
I B K 11 8 0 3 8 0 2010043 | 168304y 4,197 3,002 0 7,199
eop Rk 11 8 0 3 0 0] 200043 | 17HF0043 2,011 26,097 386 28,494
ol SN 13 0 0 4 0 0 = = 23,394 34,890 610 58,894
== K 8 0 0 0 0 0| 17004y - 1,690 6,149 0 7,839
F O OE K 10 0 0 0 0 of 181304y = 1,437 6,800 1,154 9,391
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EH 1 KH — E-H 11
EH +mE KH (fiH) (fiH) (i) (i)
4 H B TR - - - - - - - — — — - —
Lo Hm 55 e 12 8 0 4 0 0| 21F5004y| 178004y 1,826 15,897 64 17,787
JI PS5 AE 12 8 0 4 0 0| 21F5004y| 178004y 7,690 13,319 32 21,041
FH 0 380 55 R 10 8 0 2 0 0| 19M5004y| 178004y 283 2,693 0 2,976
b TFfEs e 10 8 0 2 0 0| 1985004y| 1985004y 1,610 8,876 8 10,494
Gh) 44 32 0 12 0 0 11,409| 40,785 104 52,298
= @ F K 12 8 0 4 0 0| 215004y | 178004y 800 10,998 4,305 16,103
% B RO 11 0 0 3 0 0 2085005y — 3,116 35,705 4,315 43,136
IRl SN 11 0 0 3 0 0| 200004y — 926 18,611 0 19,537
WA E KR 12 8 0 4 0 0| 21F5004y| 1887004y 3,000 9,325 749 13,074
e E=E 8 0 0 0 0 0| 170004y - 0 401 0 401
Gh) 20 8 0 4 0 0 3,000 9,726 749 13,475
IR N 11 0 0 3 0 0] 208004y — 555 8,235 0 8,790
K R I K 11 6 6 3 6 6| 208004y | 1685004y 9,638 57,746 7,531 74,915
3B M 11 8 0 0 0 0| 20M5004y| 19004y 2,002 21,582 0 23,584
T % 3 ¥ 24 24 24 16 24 24| 178304y - - - - -
HEAFSE 24 24 24 16 24 24| 170304 — 61 1,004 0 1,065
it G | 9 0 0 0 0 0| 170304y — 138 332 0 470
PRFT X 9 0 0 0 0 o 1785305 — 3,242 3,296 0 6,538
Nk 9 0 0 0 0 0] 171304y — 828 4,174 0 5,002
PES R HEX 24 24 24 18 18 24| 1687005y — 204 96 0 300
WEHBEME - - - - - - - - - — — —
Gh) 121 86 78 53 72 78 16,113| 88,230 7,531 111,874
K P oK 13 7 0 5 7 0| 22850043| 178004y 10,169 85,127 12,930 108,226
[ 45 fE 12 7 0 4 7 0| 215004y | 178004y 2,245 4,308 279 6,832
FEHEAHIX 10 0 0 2 0 0| 198004y - 886 3,427 219 4,532
PO 8 0 0 0 0 0| 170043 = 0 0 0 0
B 8 0 0 0 0 0| 1785004y = 0 0 0 0
b= 8 0 0 0 0 0| 1705004y = 0 0 0 0
O 8 0 0 0 0 0| 1705004y = 0 0 0 0
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F-H 1 RH (i) (i) (i) (i)
o i 8 0 0 0 0 o| 17004y = 0 0 0 0
T % I 8 0 0 0 0 of 17m:00%y = 0 0 0 0
HETERL S 8 0 0 0 0 0| 178004y = 0 0 0 0
FRRF7° 7Y (S SC ) 6 0 0 0 0 0| 16M£30%y = 140 339 0 479
HAF7 79 (& SCJEE) 6 0 0 0 0 0| 16M304y = 182 628 0 810

FESRA 5 — 6 0 0 0 0 0| 16M#30%y - - — — =
GhH 109 14 0 11 14 0 13,622|  93,829| 13,428 120,879
R K 8 0 0 0 0 of 17004y — 360 1,549 0 1,909
e S A T 10 6 0 2 6 o 19WF004y| 15WF004y|  11,562| 20,523 o| 32,085
WK #E B 10 0 0 2 0 of 19004y — 1,689 29,660 384 31,733
% BB 2 10 0 0 2 0 0| 1950043 — 1,015 11,982 115 13,112
IR HTE SR 10 0 0 2 0 0| 19004y — 1,581 6,364 716 8,661
B A 13 0 0 5 0 of 221004y — 3,542| 20,806 499| 24,847
& % 8 8 0 0 0 0 - - 162 257 17 166
GhH 69 14 0 13 6 0 — — 19,911 91,141 1,761 112,813
M oF S K 12 7 0 4 7 0 21W§1543| 170043 3,536| 36,943 1,073 41,552
#hoE TR K 12 8 0 4 0 0 21W§0043| 17WF00%y 2,982 22,921 1,211 27,114
= R B X 9 4 0 0 0 0 21W§3043| 17WF004) 1,327 3,666 109 5,102
oo E K 13 4 0 5 4 0 — — 2,099 6,384 0 8,483

= ¥ - — — — — — — — — — - -
GhH 13 4 0 5 4 0 2,099 6,384 0 8,483
BRI’ K 11 8 8 2 8 8| 20/¢3047| 1787005y 1,430 13,244 154 14,828
o B’OK 13 8 0 5 8 0 21W§3043| 17WF00%y 2,268 23,280 600| 26,148
WS R B R 13 6 0 5 6 0 21W§3043| 18MF004) 1,168 14,148 4,141 19,457
ERt s — 10 0 0 2 0 0| 188304y = 623 6,371 924 7,918
=R — 13 6 0 5 6 0 21/F3047| 1817005y 3,028 18,661 4,789 26,478
GhH 36 12 0 12 12 0 4,819| 39,180 9,854 53,853
NI = TN 10 0 0 2 0 0| 19%§00%5y — 4,636 20,967 874 26,477
B E K #F 11 8 0 3 8 0[ 2010043 | 17HF00%3 600 10,070 185 10,855
IR =N 10 0 0 2 0 0 - — 1,132 12,875 0 14,007
I TN 13 8 8 5 0 8| 213043 | 17HF00%) 2,867| 12,271 1,308 16,446
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B RIS AR RFFI S
EH +hE KH — E-H +hE
EH +mE KH (fiH) (fiH) (i) (i)
&N AR E K 10 0 0 2 0 0| 191004y - 1,985 6,155 520 8,660
TR EH K 10 0 0 0 0 0| 198004y - 1,432 11,132 2,350 14,914
I N 12 6 0 4 6 0| 218004y| 1685004y 591 5,198 1,254 7,043
kL 4 X 10 6 0 2 6 0 191F004y| 161004y 1,850 9,303 477 11,630
Gh 22 12 0 6 12 0 2,441 14,501 1,731 18,673
Ju N K 11 0 0 0 0 0| 20004y - 1,550 4,854 0 6,404
w M & K 11 8 0 3 0 0 20[F004y| 17HF004y 845 9,639 126 10,610
o O K 12 8 0 4 8 0| 200043 | 17HF0043 10,267 85,931 3,956] 100,154
E H# e 12 8 0 4 8 0 211F004y| 218F004y 10,452 40,993 1,486 52,931
Gh 24 16 0 8 16 0 20,719 126,924 5,442] 153,085
. Ju K 13 13 0 5 10 0| 218304y | 218304y 3,378 30,898 7,668 41,944
W 72 B i 16 11 11 5 0 11| 2485004y 208004y 366 7,896 6,312 14,574
Gh 29 24 11 10 10 11 3,744 38,794 13,980 56,518
K 455 F K 11 0 0 3 0 0| 20004y - 2,108 9,096 1,213 12,417
R R OK 12 8 8 4 8 8| 21MF004y| 17HF004y 2,020 22,990 2,190 27,200
Al AN 14 8 0 5 0 0] 221004y 17HF004y 2,571 18,750 7,223 28,544
NI N 13 11 0 1 11 o| 217004 | 1985005 1,785 24,362 2,190 28,337
E T SN 10 6 0 2 6 0 191F004y| 17HF004y 1,381 6,103 7,563 15,047
O AN K 11 0 0 3 0 0| 20004y - 1,005 13,095 35 14,135
o2 K 11 0 0 3 0 0| 20004y - 1,163 5,614 327 7,104
o E K 12 8 8 4 8 8| 21MF004y| 198F004y 1,715 11,291 5,143 18,149
At 1,394 689 299 388 404 299 258,547| 1,630,970|  153,945| 2,043,462
R (%) 58.5 28.9 12.6 12.7 79.8 7.5
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